

Page 1 of 13

Contract ID: 22106 Counties: HUNTERDON

Letting Date: March 17, 2022 District(s): C1

Call Order: 106 **Project(s):** NHP-0179(327)

Contract Time: 12/06/22 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description Alt Set / Alt Member Quantity and Units		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROAD		ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0001	151006M	1.000	12,600.00000	12,600.00				
	RMANCE BOND AND NT BOND	DOLL						
0003	153003P	(1)	35,000.00000	35,000.00				
PROGRE	ESS SCHEDULE	LS						
0004	153005M	3.000	8,000.00000	24,000.00				
PROGRE	ESS SCHEDULE UPD	ATE U						
0005	154003P	(1)	197,500.00000	197,500.00				
MOBILIZ	ATION	LS						
8000	157004M	1.000	35,000.00000	35,000.00				
CONSTR	RUCTION LAYOUT	DOLL						
0010	158063P	(1)	1,500.00000	1,500.00				
CONCR	ETE WASHOUT SYST	EM LS						



Page 2 of 13

Contract ID: 22106 Counties: HUNTERDON

Letting Date: March 17, 2022 District(s): C1

Call Order: 106 **Project(s):** NHP-0179(327)

Contract Time: 12/06/22 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ASPHAL SYSTEM					
Alt Set / Alt Member Quantity and Units		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 R		ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0012	159003M	200.000	1.00000	200.00				
BREAKA	WAY BARRICADE	U						
0013	159006M	80.000	100.00000	8,000.00				
DRUM		U						
0014	159009M	500.000	23.00000	11,500.00				
TRAFFIC	CONE	U						
0015	159012M	3,910.000	21.60000	84,456.00				
CONSTR	UCTION SIGNS	SF						
0016	159015M	2.000	2,000.00000	4,000.00				
CONSTRI	UCTION IDENTIFICAT K 8'	TION U						
0017	159027M	4.000	1,200.00000	4,800.00				
FLASHIN	G ARROW BOARD, 4'	X 8' U						



Page 3 of 13

Contract ID: 22106 Counties: HUNTERDON

Letting Date: March 17, 2022 District(s): C1

Call Order: 106 **Project(s):** NHP-0179(327)

Contract Time: 12/06/22 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	/ Alt Member Q	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY		Cat Alt	Set:	Cat Alt Member:		
0018	159030M	4.000	18,000.00000	72,000.00				
PORTAB SIGN	LE VARIABLE MESSAC	GE U						
0019	159108M	4.000	7,500.00000	30,000.00				
	CONTROL TRUCK WIED CRASH CUSHION	TH U						
0020	159138M	26.000	1,002.00000	26,052.00				
HMA PA	гсн	Т						
0021	159141M	520.000	137.00000	71,240.00				
TRAFFIC	DIRECTOR, FLAGGER	R HOUR						
0022	159300M	402,300.000	0.36000	144,828.00				
TRAFFIC	STRIPES, LATEX, 4"	LF						



Page 4 of 13

Contract ID: 22106 Counties: HUNTERDON

Letting Date: March 17, 2022 District(s): C1

Call Order: 106 **Project(s):** NHP-0179(327)

Contract Time: 12/06/22 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		Cat Alt Set:		: Set:	Cat Alt Member:			
0023	159302M	9,000.000	0.36000	3,240.00				
TRAFFIC	STRIPES, LATEX, 8	s" LF						
0024	159312M	1,350.000	0.60000	810.00				
TRAFFIC LATEX, 8	MARKINGS LINES,	LF						
0025	159314M	3,000.000	1.20000	3,600.00				
TRAFFIC LATEX, 2	MARKINGS LINES, 24"	LF						
0026	159320M	3,750.000	1.32000	4,950.00				
TRAFFIC LATEX	MARKINGS SYMBO	DLS, SF						
0027	160007M	1.000	100.00000	100.00				
ASPHAL	T PRICE ADJUSTME	NT DOLL						



Page 5 of 13

Contract ID: 22106 Counties: HUNTERDON

Letting Date: March 17, 2022 District(s): C1

Call Order: 106 **Project(s):** NHP-0179(327)

Contract Time: 12/06/22 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0028	161003P	(1)	38,000.00000	38,000.00				
FINAL CL	EANUP	LS						
0029	201003P	(1)	40,000.00000	40,000.00				
CLEARIN	IG SITE	LS						
0030	302051P	1.000	1,000.00000	1,000.00				
	BRADED AGGREGAT DURSE, VARIABLE ESS	re cy						
0031	401017P	3,814.000	25.00000	95,350.00				
MICRO-M	IILLING	SY						
0032	401021M	9.000	815.33000	7,337.97				
HOT MIX REPAIR	ASPHALT PAVEME	NT SY						



Page 6 of 13

Contract ID: 22106 Counties: HUNTERDON

Letting Date: March 17, 2022 District(s): C1

Call Order: 106 **Project(s):** NHP-0179(327)

Contract Time: 12/06/22 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / A	It Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY		Cat Alt	Set:	Cat A		
0033 4	01024M	2,000.000	8.00000	16,000.00				
SEALING OF CRACKS IN HOT MIX ASPHALT SURFACE COURSE								
0034 4	01030M	27,500.000	3.20000	88,000.00				
TACK COAT	•	GAL						
0035 4	21007M	32,200.000	4.10000	132,020.00				
MICROPAVI	NG JOINTS	LF						
0036 4	21010M	1,779.000	121.79000	216,664.41				
SLURRY SEAL AGGREGATE, TYPE T								
0037 4	21011M	52,669.000	11.09000	584,099.21				
SLURRY SE	AL EMULSION	GAL						



Page 7 of 13

Contract ID: 22106 Counties: HUNTERDON

Letting Date: March 17, 2022 District(s): C1

Call Order: 106 **Project(s):** NHP-0179(327)

Contract Time: 12/06/22 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Se	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0038	453006M	2.000	2,169.00000	4,338.00				
_	PTH CONCRETE NT REPAIR, HMA	SY						
0039	607027P	19.000	918.68000	17,454.92				
9" X 22" CURB	CONCRETE VERTION	CAL LF						
0040	610003M	134,100.000	0.58000	77,778.00				
TRAFFIC	STRIPES, 4"	LF						
0041	610007M	3,000.000	1.15000	3,450.00				
TRAFFIC	STRIPES, 8"	LF						
0042	610012M	400.000	41.52000	16,608.00				
RPM, MO LENS	DNO-DIRECTIONAL	, WHITE U						



Page 8 of 13

Contract ID: 22106 Counties: HUNTERDON

Letting Date: March 17, 2022 District(s): C1

Call Order: 106 **Project(s):** NHP-0179(327)

Contract Time: 12/06/22 COMPLETION DATE Min: Max:

	lo / Item ID escription		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY			Cat Alt	: Set:	Cat Alt Member:			
0043	610014M	450.000	2.88000	1,296.00				
TRAFFIC	MARKING LINES, 8'	' LF						
0044	610017M	1,000.000	8.64000	8,640.00				
TRAFFIC	MARKING LINES, 24	4" LF						
0045	610018M	15.000	41.52000	622.80				
RPM, MO	ONO-DIRECTIONAL, LENS	U						
0046	610021M	600.000	41.52000	24,912.00				
RPM, BI	DIRECTIONAL, AMB	ER U						
0047	610024M	1,015.000	65.00000	65,975.00				
REMOVA	AL OF RPM	U						

Page 9 of 13

Contract ID: 22106 Counties: HUNTERDON

Letting Date: March 17, 2022 District(s): C1

Call Order: 106 **Project(s):** NHP-0179(327)

Contract Time: 12/06/22 COMPLETION DATE Min: Max:

Contract Description: Rt. 179, Rt. 29 to Rt. 202/31, Pavement Preservation

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY			Cat Alt	Set:	Cat Alt Member:			
0048	610033M	32,200.000	0.60000	19,320.00				
RUMBLE STRIP LF								
0049	610036M	137,100.000	0.75000	102,825.00				
REMOV	AL OF TRAFFIC STRIP	PES LF						
0050	610039M	3,550.000	5.88000	20,874.00				
REMOVAL OF TRAFFIC MARKINGS SF								
0051	610060M	1,250.000	23.70000	29,625.00				
TRAFFIC	MARKINGS SYMBOL	S SF						

Section Totals: \$2,387,566.31



Page 10 of 13

Contract ID: 22106 Counties: HUNTERDON

Letting Date: March 17, 2022 District(s): C1

Call Order: 106 **Project(s):** NHP-0179(327)

Contract Time: 12/06/22 COMPLETION DATE Min: Max:

Contract Description: Rt. 179, Rt. 29 to Rt. 202/31, Pavement Preservation

<u> </u>	· · · · · · · · · · · · · · · · · · ·			<u> </u>			
Line No / Item ID Item Description		(1) ASPHALT SYSTEMS					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	CONSTRUCTION	ON ENGINEERING	G Cat Alt	Set:	Cat A	It Member:	
0006 155012M	1.000	45,000.00000	45,000.00				
FIELD OFFICE TYPE D SET U	JP U						
0007 155030M	8.000	6,000.00000	48,000.00				
FIELD OFFICE TYPE D MAINTENANCE	МО						

Section Totals: \$93,000.00



Page 11 of 13

Contract ID: 22106 Counties: HUNTERDON

Letting Date: March 17, 2022 District(s): C1

Call Order: 106 **Project(s):** NHP-0179(327)

Contract Time: 12/06/22 COMPLETION DATE Min: Max:

Contract Description: Rt. 179, Rt. 29 to Rt. 202/31, Pavement Preservation

Line No / Item ID Item Description			LT PAVING MS, INC.				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0003 NON PARTICIPATING Cat Alt Set: Cat Alt Member:

 0002
 152015P
 1.000
 15,000.00000
 15,000.00

 POLLUTION LIABILITY INSURANCE
 DOLL

Section Totals: \$15,000.00



Page 12 of 13

Contract ID: 22106 Counties: HUNTERDON

Letting Date: March 17, 2022 District(s): C1

Call Order: 106 **Project(s):** NHP-0179(327)

Contract Time: 12/06/22 COMPLETION DATE Min: Max:

Contract Description: Rt. 179, Rt. 29 to Rt. 202/31, Pavement Preservation

	act Boodilption.	1 1 1 3, 1 1 . 2 3 to 1	t. 202/01, 1 avon	ioni i roccivatio	•			
Line No / Item ID Item Description			(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0004	EROSION CON	NTROL	Cat Alt	Set:	Cat A	It Member:	
0009	158009M	1,415.000	41.33000	58,481.95				
HEAVY D ORANGE	UTY SILT FENCE,	LF						
0011	158072M	4.000	1,500.00000	6,000.00				
OIL ONLY TYPE 1	/ EMERGENCY SPII	LL KIT, U						

Section Totals: \$64,481.95



Page 13 of 13

Contract ID: 22106 **Counties:** HUNTERDON

Letting Date: March 17, 2022 District(s): C1

Call Order: 106 **Project(s):** NHP-0179(327)

Contract Time: 12/06/22 COMPLETION DATE Min: Max:

Contract Description: Rt. 179, Rt. 29 to Rt. 202/31, Pavement Preservation

Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005	GENERAL LAN	NDSCAPE	Cat Al	t Set:	Cat A	It Member:	
0052 805003M	40.000	274.37000	10,974.80				
TURF REPAIR STRIP	LF						
Section Totals:			\$10,974.80				

Contract Totals	\$2,571,023.06	
Cost Plus Time Totals	\$2,571,023.06	

() indicates item is bid as Lump Sum



Vendor Ranking Page: 1

Call Order: 106 Contract ID: 22106 Counties: HUNTERDON

Letting Date: March 17, 2022 10:00 AM District(s): C1

Contract Time: 12/06/22 COMPLETION DATE

Contract Description: Rt. 179, Rt. 29 to Rt. 202/31, Pavement Preservation Project(s): NHP-0179(327)

Rank	Vendor ID/Name	Percent Of Total Bid Low Bid
1	ASPHALT PAVING SYSTEMS, INC.	\$2,571,023.06 100.00%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.